ATABLE.
.38 i A

1. (20%) Consider a busipess cycle theory thet combines the

' clgssical 1I5-I2 wmodel with the belief that government purchases
are Prﬂductiﬁe pnd nuseful to the private sgector and may affact
workers' wealth position. Now under the asssumptlion that bemporary
changes in government purchases are the mein source of cyclical
fluetuations, how well would this theory explain the observed
cyclical behavior of each of the followlpg variables 7

employment, the real wage, average labor productivity, investment,
the price lewvel,

2. (15%) Buppose that the government institutes a progrem to help
unemployed workers learn new skills, find new Jobs, and relocate
a8 necessary to take the new Jobs, What is the effect on the
axXpectations—augmented Fhillips curve snd the long-run Fhillips
curve 7 The program is exXpensive, and critics argue that s
cheaper way to <¢ut unenployment would be by monetary expensicn.
Comment: .

3. {15%) If the labor masxvket is divided inbo two sechors: & primary
gechor, where good jobhs are located, and 8 secondary sector,
which has bad jobs. Suppose that the primsry sector has a high
marginal product of labvor and that firms pay sn efficlency wage.
The secondary gsctor has & low marginal producet of labor and

no efficlency wage; instead, ite resl wage is determined by the
gquilibrivom condition. Workers are slike, and all would prefer
to work in the primary seéector, However, workers who can't find
Jobs in the primary sector werk in the secondary sector.

What are the effects of each of the following on the resl wage,
employament, end oubpu% in both sectors ¥

a, Expansionary monebary policy increases the demand for primary
gsector cutputb.

b. Imnigration increases the labor force,

c. There is & ftemporary productivity improvement in the primery
sechor. '
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4. {25%) Consider an economy with overlapping generations of two-period lived people
(i.e., in each period of time, there are young persons and old persons in the
economy). People work wher young, supplying one unit of labor and earning
a real wage of uy, and retire when old. The saving of the young in period %
generates the capital stock that is wsed to produce outpus in period ¢ + 1. The
mmher of individuals born at fime ¢ and working in period ¢ is ;. Population
grows at rate m 50 that N; = {1 4+ n)' N, Firms act competitively and use the
production technelogy

y=k, O0<a<l,

where j is the amount of output per worker and & is the amount of capital per
worker. The utility function of an individual born at time ¢ is

u{cw, cn) = Iney + Blnca

where ¢y; is consumption when young sod ¢s.; 15 consumption when old, and 3
18 the discount factor.

(1) Write down the optimization problem of ar individual born a$ time ¢. What
is his/her intertemporal budget constraint? Solve for the individual’s saving
as 8 function of real wage and interest rate, s{wy, 11 ).

(2) Goods market equilibrinm requires that investment be egual to saving in
each period; i.e., K. = Nes(wy, 7eqq ) ,where K is the total capital stock of
the economy. Solve for the steady state capital stock & {ie. k = &, ¥E),
(Hint: Solve first for the real wage and interest rate as functions of the
capital stock per worker.}

{3) Consider a fully funded social security plan that collects d; goods from
each young person, invests the contributions d; as capital, and pays b, =
(147r¢)d:_; to the old, whose contribution was invested in period #— 1. Write
down the first-order condition and intertemporal constraint of an individual
born at time t. Show how the intvoduction of the fully funded social security
system affects the steady state capital stock k. Explsin your result.
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